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/ LESSON 1 .. Polygons G—U‘JJLOU' /
§ Outcomes: names of polygons + regular (congruent side and angle) E
E Polygons Not Polygons Croos f
[ ’
5 [\ ﬂ % curve  open g 2
[ — ~ S ;
‘Regular|polygons. = 49%= Jig=3) |
| - Congruent sides
{ -+ Congruent angles Triangle A B
g Q1 : Name each polygon and 2
‘Determined regular or not regular: Gipadrilsteral L] L( ‘
/ :
= z
O \rxeméon)r%mr b Q am b
|
5 Hexagon ;
/ /
¢ ¢
[ - [
g Mexa(ﬂon)m*mgw@r O E\—_—rl :
/ Octagon 8 :
| !
/ ;<
s
/Q2 : problem solving : A+ Oclagon 2
/ 9
/ & s
' 1. What polygon make up the design ? B Jutadritateral ‘
¢ #
¢ 2. Describe polygon B as regular{or/not regi:llar ? reﬁ ;
§ 3. How many sides in polygon A ? ....... LSides /
¢ o y
i Test Practice
[ )
/ 10. Which of the following figures is a polygon? ’
/ cwrve )( Caxe L wss x 2

7487 8 405 0 B 5 9 0 40 30 B0, 00, 050 40 B0, 30,0 80 9 30 30, 30, & 0 3005, 0 40 &0 500 &0, 9,0 0 0 0 989 &
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‘Ain Jaloot SCHOOL ~ CHAPTER 12..(TERM3)  11/5/2020 |
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» LESSON 3 .. Classify triangle éihloyl |4
- Outcomes: classify tringle by sides .... By angles =
: . : E Isosceles Triangle teral Triangle Scalene Triangle : :
Classify triangle ROEREE . e ¥
'b i 3cm 3cm " 3cm_/_ -\-2cm {
{ DY . : 3cm 3cm b
i 4 cm '
P e bl i | dall 3em |
’ EMLYI - uw>|  atleast two sides all sides congruent  no sides congruent E '
. E congruent ¥
¢ k. S oG TURETIDG. At
. Choose the correct answer : e
- 1. The figure shows a scalene triangle .. The length = ? 14em |
/ a. 16cm b. 14 cm @ :
2cm g
: - :
f 2. Which is an equilateral triangle ? é
/ [
‘ a. 2m,2m,5m (sb. 5m,5m,5m> c. 2m,5m,5m
¢ ¢
* 3. Which of following is an isosceles triangle ? :
/
| @ : ' < |
/ 7 om Fom 3cm 3cm 3cm /
E S:om 4cm 5
2 4cm &
E egui lateral §
| 4. The figure shows asealgpe triangle .. The length=? a2 A
[ : s
; ¢
/ a.40cm ('b. 42cm) c. 45cm :
E 42 cm z
/ /
:
' 5. Name of this triangle ? ‘
; s cm 5cm »
' a. equilateral b. isosceles : :
/ :

w
N o
¢ 3
e

7 7. L 0 B BB 80 0 0 0 0 040 .00 | 8 ) 547180 4 B L0 0, 4 B B 5 5 0 &7 40 0 9 30, 40 &7 9 7. &
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,:cl aSSIfy trian gl e f Acute Triangle Right Triangle Obtuse Triangle :
# i E
’ = ‘
¢ H H
: s = |
; 3 acute angles 1right angle, 1 obtuse angle, 5
i 2 acute angles 2 acute angles i
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Classify the triangle by sangles :
( A cute triangle , right triangle , obtuse triangle)
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10cm
6cm 7cm 7cm

[

¢

¢

4 cm [

...R\g. . Axiemsle QCM"&' i a»«fﬂe ~aoute bonde

— R ——— ¢

’

.S\ ene dxjansle Yilodeml drivgle  isosceles. driamgie |

: Test Practice
Y ¢
4 ¢
E 8. WhICh of the following figures is an{obtuse tnangle7 :
/
z
/ /
; { E
; ¢
R P L e e ‘
Z e e 2l L 00 000070, 0.0, 00 0 0 0, s, ¢
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Ain Jaloot scHoOL ~ CHAPTER 12.. (TERM3)  14/5/2020 A2\
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LESSON 4 .. Circles Y
Outcomes: identify parts of circle

Part of circle

AT RRRRE -

.

T\‘mx..\‘

Byill el

c

center
@A

The point in the
middle of the

circle ( - )

@
the

distance from
center to circle

distance across a circle
through its center

- the line segment

with both endpoints in
the circle

c

Byl Lo ya

A circle is the set of all points in a plane that are the
same distance from a point called the center.

The distance around the

circle ( TCHIMGRSNES )

For each circle, identify the radii, diameter, chords, and center.

xnu\\\n\mn\\\\\\\L\;‘\\\\x\‘\\\\\1\\‘\\‘\‘\\\\\\\\\‘\\\\\\‘\\\\\\\\\\\\\\\\\\‘\
X

T T T T T T
T T T
R 0 A 0 T 0 T

g S LT VU and _V
& w d&%)meter: (—)‘{,—/
chord: — Z_— or Jq :
" X center: \/ :
R radiic —_ (R LS or LV ;
2 i :
S diameter: SV i ’
T R e B A A 8\ ’
¢ center: __(J 5
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Words The diameter d of a circle is twice the radius . /
The radius r of a circle is half of its diameter d.
Symbols d=2r r =l ,
1\, 2 e |
1 Q1 : Choose the correct answer :
. 1. The diameter of a circle is 10 cm. Find the radius L& = S :
: b. 10 cm c. 20cm
| 2. Find the radius .. % =25 m :
a. 2cm b. 7cm U /
' 3. Find The diameter .. | +1=22 :

a.10 m b. 11 cm c. 22¢€C )

R R R e

4. If the radius of a circle is 17 m. then the diameter ®\\1'

T L W P T

j a. 8.5m @ c. 40 cm S
' 5. Find the radius .. %— =Y e
§ {a.4cm ) b. 16 cm c. 2¢cm '
Q2 : Problem Solving 5
§ One of the largest mining dump trucks has tires with a ’
' radius of 2 m. What is the diameter of each tire? p
A+ d = \H ;
The diameter of a tree is 24 cm. What is the
radius of thetree? _x - 24 _ [\ kuw, :
D ) N ’
Test Practice _,;

11. Which of the following is\NOT a radius}of the circle shown?

cm—— —_— A o
E ke M i
%}j E C :‘

700900 )9 ) B B9 0 ) 0, 49 0 49 0, 0, 0. 0 0, B0 30, 0 8 0 00 6 0. 80 0 &0, 080, 40 G080 0 & 00 4 20 0 30 37, 30,3 ,
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Ain Jaloot ScHOOL ~ CHAPTER 12..(TERM3)  21/5/2020 £ |
LESSON 6 .. CLASSIFY Quadrilaterals ( 4 sides ) -

Outcomes: parallel side, congruent sides , right angle

. Parallelogram with 2 pairs sides parallel

m) E

| : : = 4 right

: : 4 right angle i
| angle 5
| ] = trapezoid |
| P :'
| arallelogram rectangle square rhombus 1 pairs sides | |
2 pairs sides Congruent 4 sides Congruent ||| parallel

Q1 : Choose the correct answer :
1. Quadrilaterals that have all the attributes of rhombus |
a. rectangle b. parallelogram @ 5

2. Quadrilaterals that have all the attributes of parallelogram(circle 2)

a: recta_@ c. trapezoid

3. Quadrilateral has no congruent side and one pair side parallel ..
a. parallelogram b. trapezoid c. square

4. Quadrilaterals that have all the attributes of rectangle (circle 2)

a. Trapezoid . parallelogram

5. parallelogram has 4 congruent side and 4 right angles ..
b. rectangle b. trapezoid C. squar

6. parallelogram has 4 congruent side and no right angles ..
c. rhombus b. square c. trapezoid

s P AP AP0 L9 B B L B 0 A 00 0 008, A 1 7t 0
B P P s SV s
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Q2 : Match :

Parallelogram

trapezoid

square

rhombus

rectangle

, Quadrilateral has 4 congruent side , 4 right angle

N2

Quadrilateral has no congruent side, one pair side parallel

N

Quadrilateral has 2 pair congruent side and parallel side

Quadrilateral has 2 pair congruent side, 4 right angle

Parallelogram has 4 congruent side , no right angle

Q3 : Write my name:

1. I have 4 right angle

3. I have 4 congruent

2. 1 have one pairs of parallel side................... (@@

X
side I’'m not square, ......ccceeeeees @, rectangle)

4 A
4. Rectangle is a Parallelogram with ............ right angle ( 2 ,@)

Test Practice

11. Which statement about the figures shown below is true?

K

220 ey
‘,’mPeuid

® Figures M

a0 P00 AP 8 0 10100,

(® Figures K and N are rectangles. .
Figures L and N are quadrilaterals.

Figures K and N are parallelograms.

and N are parallelograms.
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CHAPTER 12 ( TERM 3 )
LESSON 12 .. VOLUME OF composite figures

V- F A3 =315

26 431.5 =|295.5 4

V= 126 X\l =1388<

Vi C\xenﬁ-‘m‘“

1 G0 + 1386 =(1464) 60 +y32=la2 )

'L: length w: width  h: helght b: base (Ixw) ¢
' Q1 : Find the volume of composite figures :
i 2cm 5 cm §
; r- 5 cm wem |
/ : 3cm /
; 1 :_ 3dm #
Il dm : s 15 dm Il cm gecm
e '4 dm B= 126 cmZ 6 cm f

6 dm RS 9 cm

3 39

V= “deq=26qalml V= C(XDXG:QOCM V,quxg:éocm :

N A

T L T T T T T T A L A A

EV,IQ%QXH

12 cm :
2cm
)""7 """" &
; 21 2cm
;----
4 4 cm
3cm 3cm

Ve 3XUXQ =24 o

L ARYR = QLIC”"

=96

cm

§2H+94+46 [EEEE

|/

v-axlix4=396
/= 384x5=1920 m

396 + 1920= l 23l6cm

00008740 7 L0 00009 89, 0 0 B 087 B0 00080 080 0 00 000 00 0 00 0 0 0 0,900 0 0 0 0. 27 0 00 29,00 a0
- =7

]
-
1

]
]
-

4
b

8m

V= 8x6x5
V=3%X5x6+=

_2Up
90

T T T T T T T T T
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a2: (%) Problem Solving ;

N N )
L § C N

. Sumayya is decorating the cake shown. Find the
. volume of the cake.
: 3 :
=g St e Daem 2
Nz 12X12X 22 4.22..8m é
£ T 334 + U39 =
e
The concrete supports of a
bridge are shaped like congruent
prisms . The Total volume of the
2l two rectangular prisms is
g 10m 10m ;
é 5m 5m 2
; 7m 7m /
;5 : U= 26xQx12= 2900 Cm’ 8 cm
‘Test Practice v- sxoxa-#0 o e
g ] 2700 + 420:= [0 cm ’
; 22. Find the volume of the /
| composite figure.
/ . : 12cm ¢
. ® 2700 [ @ 3420, |
2780 cm® ® 3,660 cm’ 9cm
: 25 cm
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